EAGRAROBREERT — 2 N— ABISH —F

20201071780 (£) 9EEH1H

ISR Y% 3%LE ‘ [Kiz] /J\EEJ‘ [BERE] — | & (B) 14000 &
[A&4£] 17 :1,200,000 @ 23 :420,000 @ . 33 :240,000  ~ 4 3% :180,000 @ ~ 5 7% :120,000 [
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1l8lo|/toy—n i 6 ééﬁﬁ_iiéﬂﬂ 1:(3_2).6 7-4-4-3 |41.2| — 2 | 450 Eﬂ(gi%ﬁptﬁg%
Ris /v Ts BAREITUN 0 eyl kT —n
9 6l 7—270% 5 é?g'ﬁ**é’ (1231/21) 58-6-4 |41.5| — | 4 | 451 ;S,%;;Z;? (&%)
RiANT =N BTF—ZY 4R 4| G
3lgliol M7 x4 i 7 %J_léﬁm (11313/24> 9-9-9-9 |41.2| — 7 451 E;gg— (=)
Q:FAYITIRE BETRUTL ) 1 Xm wa
4 2 | AT v TAIE # 3 ?gfsgik 1(:13/32.)5 1-1-1-1 426 — | 9 (5:)‘3 g%ﬁ: (=50
Z:70F—-v B:I7A4IKRTIAX Pilatse]
sl7lg| 7v—Uy7rOz B4 :Eél_l(l)i 1(:13/32.>6 6-6-5-2 | 42.1| — 5 502 fﬁé;ﬂ;; (BH)
Lg% v b B2y /%17 /2 (-3) HE AR
6l1l1|L—7>TF> 5 0|l 1:39.6 8768 |416] — | 6 | 45t | EHE (EHD)
R:yA7% BiTIU—7 )| m3as
7 IR ZIAVES # 3 é-’gs_%%’é‘% 1:(324>.o 4-5-7-7 |42.3| — | 3 | 455 gi#%% (Z)
QiAZ—ba-X BiLALXATINT— R =SSP PR
8 4| TT7v A X # 5 ﬁ;’%ﬁf 1:(334).7 10-10-10-10| 42.0 | — | 10 | 489 iﬁ%ﬁ (=50
R:TS5v 784K B:¥a4>I—-Yv> (-6) REHS
955 STI—1)yx— 4 4 éﬁé%@* (12315/22) 2-2-2-6 | 44.1| — 1 :3:)27) /EJIi?;;; é‘éiu)
LY IRT4TFRX BNT R FTaUT HE ki
1olzl 7 | s> i 3 51%?535 1:(325).6 3-3-3-5 |44.4| — 8 415 gfﬁi (=)
QR HET—E BENFLLLY ) S i
® 1 —F—@EBIERL
1T=7r= 2,5,7,3,6,8,9,1,10,4
20—F— 2,5,7,9,3,8,1,6,10,4
Ja=9= 2,5,7,9,8,6,3,1,10,4
43—+ — 2,8,9,6,7,5,3,1,10,4
[ /N
B 9 400 74K 6-9 610 B 6-8 1,390M JEE 6-9-10 3,220M
B B 9 180M 9-10 610/ B & 6-9 1,570 3B 9-6-10 12,230M
6 360 6-10 1,060 B E 9-6 2,780M
10 310

ARICOVWTRDTEEERROODE. TR LI,




